Connect 5 struts with a wire to
create pentagonal rope.

his pentagonal rope has a kind of tur-
uranvce. The arrows in this photo shows
a direction of turburance. The direction of
turburance shown in the photo is counter-
clockwise.

Keep the direction in all nodes during con-
necting struts with wires in making the

- tensegrity sphere.

In case of counter clockwise direction, slide wire at right
in a slit at the end of strut. And temporary fix it with
tooth pick.
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Add new strut to the set of 5
struts. And make a triangular
rope. Triangle has original
turburance direction. If pen- .
tagonal rope is in counter e
clockwise, the triangle rope
need to be the same direc-
tion.

basic rule

Two wires connected to a
strut.

And one rope of wire con-
nected to and belongs to a
strut.




// Add 4 more new struts and
create 4 more triangles.
by this phase, you create 5
triangles in a large pentagon.
o ' ; Add two struts to each of node at large
- pentagon’s corners. That creat small
pentagons at each node.

connect two struts to
create one triangle.

TV




Add one struts to
connect two adj-
ascent corners of
the star.

Connect two
struts to creat four
more trianges.

By this phase, You
create 10 triangles
in one large star
shape.

Add one new strut to connect two adj-
ascent corners at the star shape.
Lift the volume up to stablize the mod-
eling and create 5 new triangles.

By the phase, you create 15 triangles among 20. '




The last 5

Remove tooth pick and
slide strut along the wire
s@ that the wire get pre-
tension.
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2 as strut slides along wire, the pentagon highlited in yellow expand. This convert each vertex ’

of an icosahedron, that is a point to a pentagon that is hilighted in orange in the photo. This
,_convert icosahedron to a polyhedra known as football. And this proccess infrates the polyhe-
dra therefore it gives pre-tension to wires. /
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Adjust each position of struts to keep each pentagon as regular pentagon when the model gain
enough pretension in wires. Keep polyhedra’s symetry to keep spherical outline the tensegrity
has.




